EARAROBEEIERT — 2 N— IBISH —F

20194E3A308 (£) 2EIBR##H3H

R EEEXY

500AF

(E&

)

(451E) B

‘ (%] 8 ‘ (EsmEl  — | & (&) 180K &

[A~&£] 17 :7,200,000  ~ 23 :2,900,000 @ 3 7 :1,800,000

/473 11,100,000 5 7& :720,000 /M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o P = AHEES :53. 02— . . FHhE— (EX)
1155 Ry TI75>+ 4 3 fsa.o 1(5_3)5 2-2-2-2 |37.1] 95.7 | 5 gs) AL~ e
L:TLrFFE2T1 BTL—IRII— HE77—»4L
NN 3 | it 1:54.3 8-8-55 |37.2| 88.4 | 2 | 490 |ETEBS (FH)
EH 3 AIETARO—> e 56.0 (5) -4) |EXE (%)
R:T7ROAXLTEL B:ZTEIFLRA [E]=sEae
W R i 3 | BFER 1:54.6 5-5-5-6 | 37.6| 85.6 | 7 502 | AfE (ER)
3lz|7|7vyT=TuTl 54.0 (1 1/2) 6 | B) 7¥U5 - Tr—L
LNMVTTY BIIATINTEAR IV75 77— L
— i 3 | BERX 1:54.7 1-1-1-1 | 38.5| 83.5 | 4 468 | FBR (ER)
4 4 RZ/)IAH 54.0 (1/2) (-4) BKHE=
R:gr7—3UF7> B:FaLT wr fx
s #Ho3 | et 1:55.3 5-6-2-4 |38.6| 78.3 | 3 53 | FILBA (%)
5188 b A A 56.0 (4) o) |PEBT
RNZ—kb1—-X B:774LST Y e
915 (€ 43 | KER 1:55.7 8-8-9-9 [38.0| 75.9 | 9 468 | =HIKE (5ER)
6111 LrE3I>R 56.0 2) -2) #) LA
L:Zh—9 B:TEITyTIT B
o . £ HREH : -3-5- RERE (ER)
2 o | RIS F T LK 4 3 s 1(755t>7 3-3-5-8 | 38.6| 74.8 | 1 <5+124) tlt%i— (
R:r—775>0 B XT Fx-—y—7> [EA=bie]
s # 3 | BERE 1:55.9 7-6-8-6 |38.6| 73.1 | 6 504 | RERETT (FR)
8 6 '3"71’ =y 56.0 (1 1/4) (+4) (#) /—ZAEILX
L:TZ59 784K B:Ly RALy R FL4kE
N . BEEE 156. -3-2- . . BEHERE (ER)
olglg| 7o vk 3 R 1(516)1 3-32-3 |39.6| 72.4 | 8 ig? iEL
R:ZkACTYE—2 By ILET FUFLTr—L
@ 71 L
) 49.4-37.3
NO>24 L | 12.8-11.6-13.8-13.2-12.7-12.1-12.4-12.2-12.7
@ 1—F—@&BIEf
13=7r= 4,5(2,9) (7,8)6(1,3)
20—+ — 4,5(2,9)7(6,8) (1,3)
3a—7+— |4(5,9,8)-(2,7,3)6,1
41—+ — 4,5-9,8,3(7,6)2-1
[ RN
B OB 5 1,150 714K 3-5 830M e & 3-5 2,540M &R 3-5-7 8,910
8 B 5 240M 5-7 2,250 B & =) 2,570 3B BT 57,190
3 170 3-7 940M B H 5-3 6,100/
7 410M

ABICOVWTRDTEEERROODE. TR LIV,




